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@
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Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor imnmediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

@S - 1/ PART -1

DDETESF ATESEREGD 6Sen Lmaﬂésasmﬁ). 20x1=20

QarGésuulBerar mrem@ wrpm el &ofle WEa D ghLenw
dilovLmws CerinQsBs8E6 @&MuSL Lo dloemanyb Csirgg
QUCELIE

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer,

[ Hmliys / Tumn over

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.com

7467 b

1. y=lr| eréngub ouengrensmt 0-e8 Ay 2 auent arfusN Sy it s 8 g ] i

LAy
(o) 20 eorsmeh (815718 e (@) 42 mapger (rr] 1o a1
Area bowidad by = v Betwern the Hmite O and 2 =

{n} 2 ag units {b) 1w, uit {t) 4 & umita (Y 3 sqq units

2. y~e ergyib areeany 0 miay 1 e @b ADOREREHET ¥ HLeen o DB SEID
R LTI

3 A { — ? ‘I ] k ' {
(am) |77 7 18 cmcummadh (5} (e 4 1) & smadn
N ; ( 1 s !

(@) (e-1) 8 SR@adT CONRAG P T

Area bounded by y= ¢ between the limits 0 861 §s.

/ Y
(a) ikl - -:: ,ﬁaq, units (b} (e+1) s units
- s s d (1 + 2 units
{¢) {e~1)sg. units d)y {(**3)%

3.  Gumbsmwsanglinflégd fneiad syreflurs 1% G@pur@edear gurfllysaar
sefladlanmg abnhHagdld 100 Jumbawse 3 urbamwsdr @GmpurBararanal-
sang Emlugnhana Hlepsecian whlurang,

(1) 00613 (<) 0.3913 () 0.00613 (/) 0.613

In turning out certain toys in a manufacturing company, the average number of defective is
1%. The probability that in the sample of 100 toys there will be 3 defectives is

(a) 0.0613 (b) 03913 (¢) 0.00613 (4) 0613
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.

Al QuaBlene @l suameanraniLl Lwetu (B ggiansuiler z=2.18-5@ eueaymb
HOID == ~ 1.75-&@ @& Lpid @iemwowbd whHliLsenssnea Hapssesaieda g se

(<=1) 0.0146 (<1) 0.4854 (@) 0.0547 (rr) 0.4599

Using the Standard normal table the sum of the probabilities to the right of z=2.18 and to
theleftof z=—-175is :

(@) 0.0146 (b) 0.4854 (©) 0.0547 (d) 0.4599

f()=x2+2x+2 wHmib h=1 erafléd A f (x)-6r LAY :

(1) x-3 (=) x+3 (&) 2x+3 (rF) 2x—3
If f (x)=x2+2x+2 and the interval of differencing is unity, then A f (x) is :

(@ x-3 (b) x+3 (€ 2x+3 (d) 2x-3
(1+4) (1-V)=

(1) -1 (=)0 (&) A (rF) 1
1+4) (1-V)=

(@) -1 b o (© A @ 1

R56E(H samsdled Siorar wrd x; -ar WS

(1) 0 ()1 2z 0 (@) -1 () 1
In an assignment problem the value of decision variable x;; is :
(@ o0 (b) dor0 () -1 (a4 1

Ermm Sieller aIEsEL (O demnaeian amamiléms g :
(=) m+n—-1-&@E sWWLOHDG) (<4,) m+n—1-&@ &LLD
(&) m+n+1-&@ &FwWHDS (FF) m+n+1-&@ &WLD
In a non-degenerate solution number of allocations is :

(a) Notequal to m+n-1 (b) Equal to m+n—1
(c) Notequal to m+n+1 (d) Equal to m+n+1
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p AA) =1 erefley Deneuthenatemper erg afl ?
(wm) A copengy mammpmin s g v enflens dflunnhm Kby m el B Gm it anau i e g

by Bl o iy
(em) A copempy aeombain b (r11) erflensujentur AppenflaGamenaniar nflin

A Slunona @amimibuiguins QubBlmsesio
(@) r arflevrugen s soargs HppeflsCareaaisafiar inflan yadludisarrs

Emaang)

() oemanga (r41) aflens wpmb sengeil. oflawnrer suflens Cammamr
wadlunomm AppeilaCanemeusdr @) me@EHiD

If p (A)=r then which of the following is correct ?

A has atleast one minor of order r which does not vanish.

(a)
(b) A has atleast (r+ 1) order minor which vanishes,
{c}  All the minors of order r which does not vanish.
(d) All (r+1) and higher order minors should not vanish.
2Ly m=f1.5~+£’—2— =cy, Ay = ! bl’ T L TV LR Qe
r oy X Uy e ay by|" e 2 2”72 ey ap
(x, y)-ar iy :
(<) (é.& Az =0y o DF
> AI A]J (‘%) AZ ’ A3

A1 4 4 A3)
(&) (,52’ Asj (rF) (ZT’ Ay
IIE.L+,13.L=C,EE.+22_=~ A, = |31 by _ by o _ oy

x y 1 . y Co, A a2 hz / A?. b2 C2 2 A3 = C2 a2 then the

value of (x, y) is :

A; A, ~ A A
, =3 92 -5
(a) (Al AIJ (®) ( a; 53)

Ay Ay A, A
(c) (““' "‘J d ('-3—: —3’*]

AZ A3 ( ) Al |
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CaneImiUILE Samreng) apapentog Qupm@Autld odrer gaildanmm o mIiLio umg;‘)lﬁiuﬁln;)
@b QUDEIBEDETE FDQITIIE LI QU mHEEGID P MILIL|BETTE) e 6T &k
Sa Hhiau

() @oriuf (=91,) » o Segpft
(@) smie \Gusnieves () s Guilen

“ A random sample is a sample selected in such a way that every item in the population has
an equal chance of being included” is said by :

(a) Harper (b)  Fisher
() Karl Pearson (d) Dr. Yates

WAHUSE R @e@maurarg UTuaTmaule Ghlss AmasHsl &l (1 H s eTuyLd

o GreTLsHw greysearts QUDHmBSTL Sig QUTUGESS 24E1D.
(=) SerpupHp Sereio (=) Simen gemenio
(@) Pevaws sereo (rr) Hleopeys semmenio
An estimator is said to be __________if it contains all the information in the data about the
parameter it estimates.
(a) unbiased (b) efficient
(c) consistent (d) sufficient
[ER2 gy - iy smiy :

2cosx
(1) cosx+c (<=1,) sinx +c¢ (®) —sinx+c (FF) —cosx+c
The value of sin ?'xd_xis :

2cosx

(a) cosx+c (b) sinx+c (c) —sinx+c (d) —cosx+c

I'(3/2)-cor iy :

3 Jw
(=24) 297 (<) 5 @ 5 (%) V=
The value of I'(3/2) is :
@ 2 ® 5 © I @ =

7467
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FX) =5 i FY) = - 2 erefld B(X - Y)-ér wndldureng

(w2y) 3 (e84 7 (@) 5 () =12
Given TX3 =5 and B(Y) = « 2 then E(X - Y) is :
(a) 23 sy 7 {cy 5 (dy ~-12

e pellgs Lraa sniidé senengm flspssasailar sml(d Gl 3 7 6 5113 1T 65T 5
erirteluimupgib

(+2i) ey («g3) Bofigon (@) R (re) BU@uemon

In a discrete probability distribution the sum of all the probabilities is always equal to :

{a) one (b) minimum (c) zero (d)  maximum

i '/‘ ’ r L] - . - . .
1y . |4y .5 T cuanas@ap swaun’igar afles wHHL g peanGus

§ —r - W i o

Vdx? Vda
(<3) 2 wppib 1 (e4,) 2 WwHmib 3 (&) 2 wHopb 2 () 3 woHmw 2

. ¢ }dzy dy .
The order and degree of the differential equation VF " = + 5 are respectively :

(a) 2and]l (bpy 2and3 (¢) 2and?2 (d) 3and?2

dy _ cosx ~ETEND UenEEQE(1pE S1DEHLITL g Qurgs Siay :
dx

(2) y=sinx—2
() y=rcosy 4, ¢ LIUESES Wwrblel]
(@) y=sinx+1
(/r) y=sinx+c, ¢ IDGEEE MHled

dy

The general solution of the differential equation —= = cosx 15

dr
(a) y=sinx~2
(b) y=cosy+c, ¢ is an arbitrary constant
(c) y=sinx+1

(d) y=sinx+c, ¢ is an arbitrary constant
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19.  eem anabsni Ggmfle Fafliex p_eerTent
(o) mmmen s, (e2y) @rem® (8)) apenm (rr) @mmI
A fime series consists of ) components,
(a) ftour by two (¢) three () five

20, erem euigelld) el dsnig il eteyamdr @blasciuBaig

(«2) 2 - GuepTULLD (<31,) p - QUEDFULLD
(&) np-euepuLLb (rF) c-euenyuULLD

The quantities that can be numerically measured can be plotted on a :

(a) x -chart (b) p-chart
{¢) np-chart (d) c-chart

U@ - 11 / PART - 11

GOl : amaluaib gw darssease darwdissa)n. olenr erar 30 -5

s Lmuwons e weaflégEeab. 7x2=14

Note : Answer any seven questions. Question No. 30 is compulsory.

21. 3x-2y=6, bx—4y=10 erann FOATUTHEET HHEIHDIDA| DIDOS) eTens &T_(h&.

Show that the equations 3x —2y =6, 61 —4y =10 are inconsistent.

22, wHLEGHS : [sin®x dx

Evaluate : [sinx dx
23. Cgemoud anity p=122-5x—2x% wHyib x =20 erebGurg marGeaurt e ufleaws

SATGHOT S,

’ = 2.
Calculate consumer’s surplus if the demand function p=122-5x—2x= and x=20.

24. Biiga 10%(%‘1) = ax + by
» !

Solve : l()g(%) = ax + by

[ Hgptiyys / Turn over
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25.  wHn@Rs : A2

Evaluate ; A%eY

26. FOOIUYL ureueler syrafl 5 wHmib HlLelwsswrarg 2 aafld, uFaume
SroreNésayn.

The mean of a binomial distribution is 5 and standard deviation is 2. Determine the distribution.

27. @@ samlen <erey 50 o eni_wwi @@ wrgflller S elasshd 6.3. ASHGNL LS
Asrensuller i1 classd 6 crafld wrdlflufler Hi i Gen siretsms.

The standard deviation of a sample of size 50 is 6.3. Determine the standard error whose
population standard deviation is 6 ?

28.  fetasrel CUTEE - eumrUNIGESED.

Define Secular trend.

29. CUIEGEUISE| HaéESET T eremanm ?

What is transportation problem ?

30.  E(X)=0 erafileb V(X)=E(X?) erenr HlemiQéseyLb.

Prove that if E(X) =0, then V(X)=E(X?)
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@y : eemaGuigd &1 0p eflaindm@ndg eflewefldnann. eflenr aremm 40 -5@,

simuwons eilenwalldaann. 7x3=21

Note @ Answer any seven questions. Question No. 40 is compulsory.

31.

32

33.

34,

spensufled perar A wppid B o g5 oiewrenb Qs Qummensenésmer
A B

A(09 0.1

wipse Hswsse) sl Blo3 07 eraflé swhlaouilld sr e wremb Clara

eeuQeuny QUITIHELEHTET Fhag UREDSOTE &rams.

Consider the matrix of transition probabilities of a product available in the market in two

A B

A(09 0.1
brands A and B 3[0,3 0,7) . Determine the market share of each brand in equilibrium

position.

1
+ Jxr—1

wHI9HS IJx i

1

te : dx
S I\/x+1 +Jxr—1

e ' 3
‘5_;“&355: —d% + y lanx = cos™x

. d
Solve ; Ey— + y tanx = cos x
x

Up=1, U, =11, U,=21, Uy=28 wpmb U;=29 crafléd AtU,-g sraws.

Given Uy=1, U, =11, U,=21, U3=28 and U,=29, find AU,

[ Hiiys / Turn over
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h Rk, ke : s BUGlues whmns
anBESLLLAder cyafldnaen o mibg efilupmpens (i) S8 mreile Ll
{11) NIAN IUT_)G‘MKM |ﬁf!£ﬂm; ,f{);,.rﬂu M’?)I'fi)(\mﬁ) Bl '(b‘,’b!ﬁ”’ et

@b Renavaafich
el @b ﬁﬂ ENVLILIT (N T
B ] I
S, T 00
S, 10 ~20
S, —40 150

Given the following pay-off matrix (in rupees) for three strategies and two states of nature

Strategy l States of Nature
E, E,
S, 40 60
S, 10 —20
S —40 150
Select a strategy using each of the following rule :
(i) Maximin (i)  Minimax

@O wramesar UL uneigharer Hlapse, 0.4 AGWL. @eleurmrs @) mLier
5 (gbgl) orarTauiiaemer

() gme w b Ll Lgriurs

(i) GopBEIULSD @euT L LgsTflwrs

GoLugnsTer flebssama srars.

a degree is 0.4. Determine the probability that out of

A probability that a student get
5 students

(i)  one will be graduate

(i)  atleast one will be graduate

W 100 sarel Qacr Qameanr G
fl OO H L eQevdgsih WpemCGw
el euallenioul e 95% BbGsms

LhSE medlen aucllentn (Hmb Heventn ) i
Cgredulamens Ggfa Qelig 2eummlerr grmg
74 Elymb whmud 1.2 Symb erafled LmES Hredlen
Glen_Oeuaflenwis sneies,

A sample of 100 measurements at breaking strength of cotton thre
a standard deviation of 1.2 & Find 95% confidence limits for the

cotton thread,

ad gave a mean 7.4 g and
mean breaking strength of

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.com

11 7467

38. @0 Qupdrb, Gwrenw 0.532 Qg.18. gyrefurer oL sgiLen, HLellwsEsd

39.

40.

0.002 Q&.18. erefiqyib searl@@pg. s _@UUIQ srTefésTear aurbLEmar 5
NS EHEE HanTEd)(He.

A machine drills hole in a pipe with a mean diameter of 0.532 cm and a standard deviation
of 0.002 cm. Calculate the control limits for mean of 5 samples .

PO CgTLrFSwrer sweumiitiy wril X g erg Gereu@bd LT FTTeLil
CupmieTeTg

0 , x<1
F) = 1k(x - 1)* , 1<x <3 gafled
1 , x>3

@) kuwppbd (i) Hepssey ALTEHE sTieus sraus.

A continuous random variable X has the following distribution function.

0 , if x<1
F(x) = {k(x - )* , if 1<x <3
1 , if x>3

Find (i) k and (ii) the probability density function.

QAsrers el vweaTU®SS y—1=x aap Car@ x- s x= -3 LHmb x=3
gl TOmOSEGET FHLBSHID STmasHen Lrlienus Srans. -

Using integration find the area of the region bounded by the line y—1=x, the x —axis and
the ordinates x=—3 and x=3.

[ Sipliys / Turn over
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L@ - 1V / PART - IV
@O0y = emengg) clamnasEnd@ib el weallbsa. 7x5=35
Note : Answer all questions.
41, (o) Qwnges Qanens T 8,500 ey eIl iy eumoreand Smb aperm eilpore
sansGaaid paSH QauiiulLg. gaGerm wsel Hasrear ey 6ig
2%, 3%wHmId 6% Qsa|bd @ awmLsHparar Quwrss g T 380 sayb
o dqrengl.  Guoagibd 6% sl Qaresurag won @rar®d wasdbHseie
Fa(HGOgsTms&H@ Fwb erafled eauGleura Afeilgib Qslg sl (Hs dsrems
crauauarey ? (HCror efflenw LweTUHS516)
3|06V 5|
(=) @@ Qurmefler gLam® 2 pusH G Qar@ssiul_Bererg. 1558y wuiss
peoplld CrisGar® Cursdoeas QuTmsss.

%@T@a&eﬁ 1995 1996 1997 1998 1999 2000 2001
2 HusH

(Lenzafled)

155 162 171 182 158 180 178

(a) A total of ¥ 8,500 was invested in three interest earning accounts. The interest rates
were 2%, 3% and 6%. If the total simple interest for one year was ¥ 380 and the
amount invested at 6% was equal to the sum of the amounts in the other two accounts,
then how much was invested in each account ? (Use Cramer’s rule).

OR

(b) The annual production of a commodity is given as follows. Fit a straight line trend by

the method of least squares. :

Year 1995 | 1996 | 1997 | 1998 | 1999 | 2000 | 2001
Production | ) . 162 171 182 158 180 178
(in tones)

42. (=) wHLAGS : f 4z +22x + 6
(x@ 1)Cx — 3)
SNV
(<4,) 500 wramaurseilen 2 wrwrerg Quaflewl ureaele srreflurs 68
SiBGOWD g L elssh 3 SmGowrs sarss_LLbhidng.
(i) 72 @i HnEh HELTs
(i) 64 JBIGLGSHDEGID GODUTS
iy 65 wHHbd 71 JEGOSHHGL Q@QerlullL  wrareursaflen
ereqremtlGenaulenens &enrdad) () s.
Z 1 1.33
UrLLaTe] 0.3413 0.4082
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(81  Fvaluate j’ 4" + 23 ‘4 [ I
fx 4 ﬂ?{ 1) o

OR

() I the heiphts of 500 students are normally distributed with mean 68 inches and standard
deviation 3 inchee, how many students have height

(1) greater than 72 inches
(1) less than M inches
(iif)  between 65 and 71 inches

7 1 133
Arca 03413 04082

43. (=) Qanpssouce BpdPaows Aswa; woimh QnHHeao cummearis srirsdr
peopGus € (x) = 50 + % wHad R'(x) =60, wrprsQawa) T 200 erafld BSUuGum
Blrugmgs Sras.

S|
(&) Cauradlenr GCumymw gpepenwt vwau®mssl Gaeuemd Cursgarsgs
sansflar =,rbu Siglueme srpduorag Sramad srans.

D, D, D, Dy Safluy

0, 2 3 11 7 6

0, 1 0 6 1 1

0, 5 8 15 9 10
7 5 3 2

: X
(a) The marginal cost C'(r) and marginal revenue R'(x) are given by €’ (x) = 50 + 75 and

R'(x)=60. The fixed cost is ¥ 200. Determine the maximum profit.
OR
(b)  Using Vogel's approximation method, obtain the initial feasible solution of the following
transportation problem.

D, D, D, D, Supply

0, 2 3 11 7 6

0, 1 0 6 1 1

o, | 5 8 15 9 10
Demand 7 B 3 2

[ Apiiys / Turn over
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44, (o) fdm o (7 - 2y)da = (12 - 2ay)dy
BII60g)
(21 ) Slamaumid eleugmimEnda@, S Nagi eflenak @GBS () oramenemts s L_entnABaD
Gogih «og) sreownnmmés Qanmenen, mmyemf) wrhms Gargenen - fluieumanmls
wiadla Qaupd erenr FlanQdaab,

Aungeradt B 1q.LILIGDL 5}, 6801 (5) [BL_UIL| <24,e887 (k)
aflenen D ET6) eflemnen <D E1TE
o1& 40 5 48 4
Ganglenw 45 2 42 3
UL & 90 4 95 8
e AQummen 85 3 80 2
CurEGUTss) 50 5 65 g
Qsr Qseeysar 65 1 72 3
(a) Solve : (y*—2xy)dx = (x? -~ 2xy)dy
OR

(b) Construct Fisher’s price index number and prove that it satisfies both Time Reversal
Test and Factor Reversal Test for the following data.

L Base Year Current Year

Commodities -

Price Quantity Price Quantity
Rice 40 5 48 4
Wheat 45 2 42 3
Rent 90 4 95 6
Fuel 85 3 80 2
Transport 50 5 65 8
Miscellaneous 65 1 72 3
4l
. 2 1
45. (=) wdlllb@s J'._____..____ dx
0 1+ cotx
SIS
(<2) Qar@asul@arar whHiysalladmhg Q@Mmuy uo@miiye Caraauamws

SITGHOTE.

X 0 1 2 | 3 | 4 5 6 7
y 1 2 | 4 7 | 11 | 16 | 22 | 29
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v
(a)  Evaluate: | M\J
M 1+ k(\li chx
OR

(b)  Find a polynomial of

ud 0 1 2 [ 3 1 a1 5 T 6T

y 1 2 4 7 | 11 | 16 | 22 | 20

d"‘ﬂl'oo two, which takes the values.

6. () @O Gsmisdwren gweumuiyy wril X peg Qe Blspsseys sritenul

ClupmieTers) erefe,

X=x 0 1 2

w
N

5 6 7
P(x) 0 k 2k 2k 3k K? 2k | 7K+ k

) k-er wlewus srewms.

(i) p(x <6), p(x = 6) LOMD p(0 < x < 5)-838 HTETS.
(i) PX=x)> %-5585”661 -Gt GeDHsULE wHlienus ey EseaL.

360605
(=) 400 safipuismerd QararL @@ &dld o daaaisaler syref 2wy
67.47 i@ erafer, 0.05 Wassiar flaveuid iGamprearg srrefl o wirb
67.39 SitGowb HiLclasshd 1.30 JmEoh Qesrar wpwwews
QsTEHINS (BES TOHESLILILETES SHSOMOM ? '

(a) A continuous random variable X has the following probability function.

X —x 0 1 2 3 4 5 | 6 7
P(x) 0 k 2k 2k 3k K| 2K | 7K +k
(i) Find k.

(i) Evaluate p(x < 6), p(x = 6) and p(0 < x <5).
(iii) If P(X<x)> 5 then find the minimum value of x.

OR

(b) A sample of 400 individuals is found to have a mean height‘ of 67..47 inches. Can it be_
reasonably regarded as a sample from a large population with mean height of

6739 inches and standard deviation of 1.30 inches at 0.05 level of significance ?

[ s / Turn over
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47. (1) §768: (3D + D— M)y = 4— 13¢ 3
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(<) @@ GO QupHrd aurbeors 2 pusd Qeuiu@n SmEwanule

(b)

o drer  Geopur@®sda 18 Fseldlgb eeafler swemiiiy  pepulled
CsbAs@&sULMD Breng Sm@wanuil

() &fwurs em Gepur@herer Hma@Lwamn

() PTG Goor HEwop

(i) <Hsulsbd 2 GoPUTH&sET 2 drer HHEban QELushares Hehsse]
STETS.

7
Solve: 3D2 + D — 1)y = 4— 13¢ 3
OR

If 18% of the bolts produced by a machine are defective, determine the probability that
out of the 4 bolts chosen at random

(i) exactly one will be defective
(ii) none will be defective
(i) atmost 2 will be defective
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